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050 0 650 1

0 900,2700 0 00,3600 00,900 2700,3600
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letx sin0 0 360,1440
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y 3g 1

y 39 1
0 3 5

y
2

SHAI 8
ref4 22.455

g
3 8








Homework 03-26

2tanβ 8 12 3tanβ
55inβ 1 tanβ 4

Sinβ tan 4 75.963

sin 11.536 Is 71 5.965 0 255.963

8 13 1 0 536 168.46 76.0 256.0

11.5 168.50

3sept12 651013 3 15ThSEPT43 2

15 3secβ 4 crop 1
5 seep
cosβ

Cos_ t 78.46 sin tq 14.477

8 388 8.46 281.53 8 BE IÉz 165.52
78.5 281.50 14.50 165.50

so no

3tanβ 353
tanβ 53 don'tneedcalculator

QI β 60.00

QII β 1800600
240.00

60.0 240.00


